UEERR

iL
EE
S
&
8

il

|
=—D

VT\:L

EEMICL)EEERD
BE2HELHVETD
TIHERBLEE L,

#mEb
Bl R

A10323 | sL/s2F

SGPERDIRERIL/N K,
@I75ALI LIS TOENFREB L) ET,

@300AE TOVPEIZHIERTEEY, (VP20 VP25, VP30IXVPEERY 1 X)

ERBERD - 2L,
@mBEI—KN A10323 /NN K B4 (mm)

GAZX | & B | BB | o n s R AB

a-k | @ | @ |EEEHE ] C g gy | P F @
0010 10A % 17.3 1.8 | 25 M 6Xx20 | 45 6 | 500
0024 15A Va 21.7 1.8 | 25 M 6%x20 | 45 6 | 250
0325 VP20 V-20 26.0 1.8 | 256 | M 6X20 | 45 6 | 230
0039 20A % 27.2 1.8 | 25 M 6%x20 | 45 6 | 230
0217 VP25 V-25 32.0 1.8 | 25 M 6%x20 | 45 6 190
0043 25A 1 34.0 1.8 | 25 M 6%X20 | 45 6 160
0221 VP30 V-30 38.0 1.8 | 25 M 6%x20 | 45 6 150
0058 32A 1% 42.7 1.8 | 25 M 6%x20 | 45 6 140
0062 40A 1% 48.6 1.8 | 25 M 6%x20 | 45 6 100
0077 50A 2 60.5 1.8 | 25 M 6%x20 | 45 6 150
0081 65A 2% 76.3 23| 25 M 6Xx20 | 45 6 120
0096 80A 3 89.1 23| 25 | M 6%x20 | 45 6 70
0109 90A 3% 101.6 23| 25 | M 6%X20 | 45 6 | 100
0113 100A 4 114.3 23 | 25 M 6%x20 | 45 6 70
0128 125A 5) 139.8 32| 32 | M10X30 | 60 8 50
0132 150A 6 165.2 32| 32 M10%x30 | 65 8 50
0147 175A 7 190.7 45| 32 | M10x30 | 60 9 25
0151 200A 8 216.3 45 | 38 M10%x30 | 60 9 20
0166 250A 10 267.4 6.0 | 38 | M10x35 | 67 10 10
0185 300A 12 318.5 6.0 | 50 M12Xx45 | 75 10 10
0190 350A 14 355.6 6.0 | 50 M12x45 | 75 10
0202 400A 16 406.4 6.0 | 50 | M12x45 | 75 10

o
=

o

EERICSVIEEERY
BE2HBELHIETD
TIHEBL S,

@b
FilEE R

72

A10349 | RF V3LV K

A7 L ZHE (ERE) BOBEERIL/N K,

OSGPEICZFERANZEIREBRILEWEHRT—THE) 7> TSN

@200ALIEIZY) TOHEWFRHBM ELNET,
@SUS304%L,

@mEI—F A10349 XFU3I/NVK

YN
AR

BT (mm)
PAX | & W | FOR | o nprprs F{TARIL b A%
= F ) @) |EEESHE| t | C Ty ey | D Fl®
0016 15A v 217 20| 25 | M6x20 | 45 6 | 250
0035 20A Y 272 | 20| 25 | M 6x20 | 45 6 | 230
0040 25A 1 340 | 20| 25 | M 6x20 | 45 6 | 160
0054 32A 1% 427 20| 25| M6x20 | 45 6 | 140
0069 40A 1% 486 | 20| 25 | M 6x20 | 45 6 | 100
0073 50A 2 605 | 20| 25 | M 6x20 | 45 6 | 150
0088 65A | 2% 763 | 23| 25 | M 6x20 | 45 6 | 120
0092 80A 3 891 | 23| 25 | M 6x20 | 45 6 | 70
0105 9A | 3% 1016 | 23| 25 | M 6x20 | 45 6 | 100
0110 100A 4 1143 | 23| 25 | M 6x20 | 45 6 | 70
0124 125A 5 139.8 | 30| 32 | M10x35 | 60 6 | 30
0139 150A 6 1652 | 3.0 | 32 | M10x35 | 65 8| 25
0143 200A 8 216.3 | 3.0 | 32 | M10x35 | 60 8 | 20
0158 250A 10 267.4 | 4.0 | 50 | M12x45 | 75 10 | 10
0162 300A 12 3185 | 4.0 | 50 | M12x45 | 75 10 | 10




